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TT-EHKET - T8I HLER PRP IFUE 200 mm

s -
I i @ Al ¥ &
BT | WRE2 | WE S | WE 4 B
EREE 48.20| 33.60| 67.40| 29.40 178.60]  178.6 m
EREE 46.85| 32.70| 64.33| 28.50 172.38]  172.3 m
EREE 46.63| 32.55| 63.80| 28.35 171.33]  171.3 m
ERTT
(xBHY)
AT 0.28 BH 15.0| 53.4] 123.6 192.0 190 w*
(x8BHY)
0.45 BH 84.7 84.7 84 m’
(x8BHY)
0.80 BH
(x8iL)
EHIT 0.28 BH o
(x®8iL)
0.45 BH n’
(x8iL)
0.80 BH n’
HERTA BE+t 0.28 BH n’
BE+t 0.45 BH n’
BEt 0.80 BH n’
HBET HE+ 0.28 BH 93.5| 70.2| 80.8 244.5 240 o’
HE+ 0.45 BH 65.0 65.0 65 m*
e 0.80 BH n’
BRESRT RCA0 (F4#4) 0. 28BH 00 00 00 n®
RC40 (Fg4#4) 0. 45BH 0.0 n®
RC40 (F4#44) 0. 80BH
BHUHT 0. 28BH 4tDT -88.9| -24.6| 33.8 -79.7 -80 m°
0.35BH_10tDT 12.5 12.5 12 m
0.80BH 10tDT
EHBL
EHERT PRP ¢ 200 46.85| 32.70| 64.33| 28.50 172.38 172 m
172.4m +
PRP JSWAS K-13 431 & 4.00m/A&
1R R RY-b A% WA00 UL 46.85| 32.70| 64.33| 28.50 172.38]  172.3m 4%
BB RT -’ A% W0 g% 46.85| 32.70| 64.33| 28.50 172.38]  172.3m 9%
20.7] 11.6] 22.8] 10.7 65.8 65.8 n’
m.?
48.20 44.50 92.70 93 m
33.60| 18.80 52.40 52 m
4.10 4.10 41m
29.40 29. 40 29.4m
FIRAIRE 1.47 1.88 1.67 m | INE Y
1.89| 205 1.95 m | InE
2.54 2.54 m | InE
H=3. msk i 2.92 2.92 m [ ME
XU T R 1.47] 1.89] 1.97] 2.92
mE 70.85| 63.50| 132.78| 85.85 353.0
HE/EE 353.0| ~ 0.95| ~ 178.6 2.08 2.08m
1.69| 2.06] 264 3.13 3.13 313 m
k) 1/2t9b E¥E% 33 AEE 15.0[m _* 20[@ * 2.08 m@gﬁﬁu@ 62. 40 62.4 m2
ISR 1/249b 15.0E * 20[@ * 3.13|m (BAIBHIE) 11/2 =
(| 178.60|./15m « #yb +1 |=47E{gELY 517.5 517 m2
BBl kET ©50mm x 24 8.20] 540 080 4.20 18.6 198




ERE & UTHMAROEH TTHE

E3ia (B8 37 :mm)
EiE IEZ o E
PRP 200 @208
%%}%%% MH No. ~i MH No. %%EE MHW@HE'%E (m) MH%@éEIﬁE‘ (m) %’:EEE %1$EE *Eﬁ“:;g (m) J:Eﬂﬁ'ﬁﬁu o . EE%QMH %ﬁ'iEMH ’§7km
m) |EFEETFHREE Bt |LREETFRE: 3 (m) m | L@ FRE D &K 0 Ty t =0. 25m TENHEE T, ;
a b c d=a-b | e=a-c PEHEIFE f g=axf | #RAHINF miE
232 232-1 i~i 232-2 39.00] 0.45: 0.45: 0.90] 0.53: 0.53: 1.05 38.10 37.95 1.31 1.55 1.55 1.43 55.77 0.95 37.05 2.00 0 1 4
232 232-2 i~i232-2+9.20 9.20] 0.45 0.45] 0.53 0.53 8.175 8.68 1.58 1.69 1.69 1.64 15.09 0.95 8.74 2.00 0 1 0
~ 0.00 0.00 0.00 0.00 0.00 0.00
~ 0.00 0.00 0.00 0.00 0.00 0.00
~ 0.00 0.00 0.00 0.00 0.00 0.00
~ 0.00 0.00 0.00 0.00 0.00 0.00
~ 0.00 0.00 0.00 0.00 0.00 0.00
~ 0.00 0.00 0.00 0.00 0.00 0.00
~ 0.00 0.00 0.00 0.00 0.00 0.00
&5t 48.20 46. 85 46. 63 1.69 70. 86 45.79
EHEBIR = Yg+-Xa= 70.86 / 48.20 = 1.47 m
A% 1.7 K I I I |
= 1 BX - | - ]
e, &F InEEt EEE | meE BRERMHEK | ST4RMHZL | 55K #it %k
RS T#Y
HE
BAHSLE H=1. bmk i - - - 0 - _
EHEHY 0.208 0.10 1.16
BAES L H=2. Om=k i 48. 20 70. 86 1.47 1.69 0 2 4
BASTH H=2. bmzk i - - - 0 - -
BASTH H=3. Omk i - - - 0 - -
BAHSLE H=3. bmk it - - - 0 - _
BAHSLE H=4. Omk i - - - 0 - _
5 48.20 0.00 0.00 0.00




ERH L UVTFYIREIROEL TTHRE 2
E3is (B8 {51 : mm)
EiE M ENE
PRP @200 $ 208
%%}%%% MH No. ~i MH No. %%EE MHW@HE'%E (m) MH%@éEIﬁE‘ (m) %’:EEE %1$EE *Eﬁ“:;g (m) J:Eﬁﬁ'ﬁﬁ U EE%QMH %ﬁ'iEMH ’§7km
(m |LEFREETREE F | LRAETHRAE:E F (m) (m) LA THRE: &K iy t =0. 25m 5 y 5
a b c d=a-b | e=a—c S f g=axf | IEHIIE miE | tEHiEE
232 | 232-2+9.20i~:i 230-3-1 29. 80 0.45: 0.45 0.53; 0.53 29.35 29.28 1.69 2.06 2.06 1.88 56.02 0.95 28. 31 2.50 0 0
230 | 230-2+3.20i~i 230-3-1 3.80 0.45¢ 0.45 0.53i 0.53 3.35 3.28 2.01 2.01 2.01 2.01 1. 64 0.95 3.61 2.50 0 0
~ 0.00 0.00 0.00 0.00 0.00 0.00
~ 0.00 0.00 0.00 0.00 0.00 0.00
~ 0.00 0.00 0.00 0.00 0.00 0.00
~ 0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00
0.00 0.00 0.00 0.00 0.00 0.00
&5t 33. 60 32.70f 32.55 2.06 63. 66 31.92
EHEBIR = Yg+-Xa = 63.66 / 33. 60 = 1.89 m
¥ 81 K
= iy BX - | ]
e, BT mEE EEE | meE BRERMHEK | ST4RMHZL | 55K #it %k
&5 T#Y
HE
BAHSLE H=1. bmk i - - - 0 - _
Eytwy 0.208 0.10 1.58
BAHSLE H=2. Omk i - - - 0 - _
BAES L H=2. bmk i 33. 60 63. 66 1.89 2.06 0 - -
BASTH H=3. OmK & - - - 0 - -
BAHSLE H=3. bmk it - - - 0 - _
BASTH H=4. OmK & - - - 0 - -
& 33. 60 - - -




ERH L UVTFYIREIROEL TTHRE 3
E3ia (B 451 mm)
EiE M ENE
PRP @200 $ 208
%%}%%% MH No. ~i MH No. %%EE MHW@HE'%E (m) MH%@éEIﬁE‘ (m) %’:EEE %1$EE *Eﬁ“:;g (m) J:Eﬁﬁ'ﬁﬁ U EE%QMH %ﬁ'iEMH ’§7km
(m |LEFREETREE F | LRAETHRAE:E F (m) (m) LA THRE: &K iy t =0. 25m 5 y 5
a b c d=a-b | e=a—c S f g=axf | RHIIE miE | tEHiEE
230 230-1 i~i 230-2 44.50( 0.45: 0.45: 0.90] 0.53: 0.53: 1.05 43.60[ 43.45 1.80 1.96 1.96 1.88 83. 66 0.95 42.28 2.00 1 2
230 230-2 i~i230-2+3.20 3.20] 0.45 0.45] 0.53 0.53 2.5 2.68 2.01 2.01 2.01 2.01 6.43 0.95 3.04 2.50 1 0
230-3 | 230-3-1 i~i 230-2-1 15.60] 0.45: 0.38: 0.83] 0.53: 0.45: 0.98 14.78 14. 63 2.09 2.02 2.09 2.06 32.14 0.95 14.82 2.50 1 0
232-5 | 232-5-1 i~i{x232-5-2 4.10[ 0.45: 0.45: 0.90] 0.53: 0.53: 1.05 3.20 3.05 2.43 2. 64 2. 64 2.54 10. 41 0.95 3.90 3.00 1 1
&5t 67.40 64. 33 63. 80 2.64 132. 64
EHIEBIR = Yg+-Ya=132.64 / 67.40 = 1.97 m
A 16.0 K
= iy =X - wr | s 5
&5 T#Y
HE
BAHSLE H=1. bmk i - - - 0 - _
Eytwy 0.208 0.10 1.66
BAES L H=2. Om=k i 44.5 83.7 1.88 1.96 0 1 2
BAES L H=2. bmk i 18. 80 38.57 2.05 2.09 0 2 -
BAES L H=3. Om=k i 4.1 10.4 2.54 2. 64 0 1 1
BAHSLE H=3. bmk it - - - 0 - _
BAHSLE H=4. Omk i - - - 0 - _
& 67.40 0.00 4.00 3.00




173128 & ERESLUVTHIBEIROHEEY TIE 4
ks (B8 {51 : mm)
EiE M ENE
PRP $200 ®208
%%}%%% MH No. i~ MH No. %%EE MHW@HE'%E (m) MH%@%EI@E‘ (m) EREER|EARER PEELE  (m) J:Eﬁﬁ'ﬁﬁ Y BEZ2MH %ﬁ'iEMH ’§7km
(m) |[EREETHRAEE & | LRAETRE: F (m) (m) ESA TRA D &KX T t =0. 25m # # #
a b c d=a-b | e=a—c HE IR f g=axf | fEHEIE | miE |[TBHEFHE
232-5 |{m232-5-2i~i 232-4-2 29.40] 0.45: 0.45: 0.90| 0.53: 0.53: 1.05[ 28.50| 28.35 2.70 3.13 3.13 2.92 85. 85 1.00 29.40 3.50 2
a&t 29.40 28.50] 28.35 3.13 85. 85
TIGIMHIR = Xg+-Xa= 85.85 / 29. 40 = 2.92m
A% 7.1 X
= 15 =K < s | s ]
mEE e w o | BEERMHER | FTARNHEL | S5k
i
BAHSLE H=1. bmK i - - - 0 0 0
FiytmwyY  0.208 0.10 2.61
BAHSLE H=2. Om& & - - - 0 0 0
BAHSLE H=2. 5mk i - - - 0 0 0
BAHSLE H=3. Omk - - - 0 0 0
BAHSLE H=3. bmk i 29.40 | 85.85 2.92 3.13 0 2 0
BAHSLE H=4. Omk i - - - 0 0 0
& 29.40




B2 O£ B | EiE PRP
Brmmi TR ¢ 200
S 0. 208
TRELE 1. 47
ERER 48.20 m
EEEE 46.85 m
ERER 46.63 m
m
0.47 é4 1. 40 >
EHI 5 HEHEL
| |
0.04 =E 0. 050 o
‘o'
TERERBAER)
RCA0-0 0.250
BRL (F£1) 0.762
1.47
1.52 REE <
= =
‘:) 0. 408
BERRE I
o
0.09 | 0.95 | yo
> >
0.200.18 1.50 0.18
BT A=0.208"2x /4=  0.03
4 IR LMTERE A=(1.5+0.2+0. 18) x (0. 562+0. 2+0. 408+0. 09)
- (0. 2+0. 408+0. 09) x 0. 95= 1.90

FHEVIB T (As - Co)

ERER F 8l LiRim
48.20 * 1 + 1.00 49.2
HEREAT
h ERER
0.20 *( 48.20 + 1.00 ) 9.8
fEElT
E h ERER
1.562 x 0.20 =*( 48.20 + 1.00 ) 15.0
BEERT
EREER W E R ERER
0.95 =*( 0.408 + 0.09 )*x 46.63 - 0.03 * 46. 63 20.7
BARERL
E h ERER
0.000 * 0.95 =x( 48.20 + 1.00 ) 0.0
BRL&EEL)
W T ERIER
1.90 *( 48.20 + 1.00 ) 93.5
BAERL
ERER
* 0.95 x 48.20 0.0
BREIABET (W)
EHl #HRLE
15.0 -( 93.5 )/0.9 -88.9
KL AIET (As)
E h ERER
0.04 * 0.20 =*( 48.20 + 1.00) 0.4
TERET
rh ERER
( 1.50 + 0.18 + 0.2 )*( 48.20 + 1.00 ) 92.5
REI
rh ERER
( 1.50 + 0.18 + 0.2 )*( 48.20 + 1.00 ) 92.5




2 ¥ B | =i PRP
MrE2 EE ¢ 200
EHE 0. 208
TEHIE 1.89
BRIEE 33.60 m
e 32.70 m
BRIEE 32.55 m
m
EHI § HEHEL
|
0. 04 ElE 0. 050
BARIER
RC40-0 0. 250
HRL (F£T1) 113182
1.89
BRARER
RC40-0
—~
<:,/ 0408
BHARE
0.95],
0.29(F 1.39
RS ER A0 208" 2% /4= 0,03
B 1 — LS ERE A=1.39"2% 71 /4= 1.52

RETIHR LBTEE A=(.39+0.29) x (0. 982+0. 2+0. 408)

-0.95x (0. 2+0. 408) =

2.090

LT
BRIER i fal
33.60 * 2 67.2
SHERRIEAIT
M ERER
( 1.39 + 0.29 )x 33.60 56.4
EEIT
= M ETHRER
( 1.85 *( 1.39 + 0.29 )= 1.52  )*x 33.60 53.4
BRAEERT
ERER B E S EREE
0.95 = 0.408 =* 32.55 - 0.03 *  32.55 11.6
BRRIERL
E h EHIER
0.000 * 0.95 *x 33.60 0.0
ERL&EED)
M R ERER
2.090 *  33.60 70.2
BRRIERL
ERER
* 0.95 x  33.60 0.0
BREIAEBT (W)
bl EHHRLE
53.4 -( 70.2 )/0.9 -24.6
LT AMIET (As)
= rh HRER
0.04 x( 1.39 + 0.29 ) * 33. 60 2.3
TERET
rh EHRER
( 1.39 + 0.29 )x 33.60 56.4
RET
rh HRIER
(1.39 + 0.29 )x 33.60 56.4




B £ I @ EiE PRP

Brm3 TR ¢ 200
EHE 0.208 SHEYM T
R B 1.97 EREER Al
ERIER 67.40 m
EEER 64.33 m 67.40 * 2 = 134.8
ERER 63.80 m HERRIEAIT
m Oy EREE
0.95 * 67.40 = 64.0
! AT
: E Oy BERIE
E A i BHEL
' 1.93 % 0.95 % 67.40 = 123.6
| | BREERT
0.04 E3E] __0.050 ERIER W iR EHRER
BREER 0.95 x 0.408 * 63.80 - 0.03 % 63.80 = 22,8
RC40-0 0. 250 BREERL
E Oy BERIE
BREL (4£1) 1.262 0.000 * 0.95 * 67.40 = 0.0
HBRL (REL)
E Oy BERIE
BEER
RC40-0 1.262 % 0.95 * 67.40 = 80.8
BRAERL
Q BERER
0. 408 * 0.95 * 67.40 = 0.0
BaER HLTMET (/)
bl H#HRLL
0.95
123.6 -( 80.8 )/0.9 = 33.8
T MET (As)
MEREHEE A=0.208"2x /4= 0.03 E Oy EREE
0.04 x 0.95 * 67.40 = 2.6
LTERET
Oy EREE
0.95 * 67.40 = 64.0
®ET
Oy EHRER

0.95 * 67.40 = 64.0




B £ I @ EiE PRP

Brm4 TR ¢ 200
EHE 0.208 SHEYM T
AR 2.92 EREER Al
ERER 29.40 m
EEER 28.50 m 20.40 x 2
ERER 28.35 m HERRIEAIT
m Oy EREE
1.00 % 29.40
' fEElT
: B m EREE
E A i BHEL
' 2.88 % 1.00 * 29.40
| | BEERT
0.04 E3E] __0.050 ERIER W iR EHRER
BREER _ 1.00 * 0408 % 28.35 - 003 * 2835
RC40-0 0. 250 REERL
B m EREE
BREL (4£1) 2.212 0.000 * 1.00 * 29.40
HBRL (REL)
B m EREE
RAER
RC40-0 2.212 % 1.00 % 29.40
BAERL
<:> ERER
0. 408 * 1.00  * 29.40
BaER BREIAEBT (W)
bl H#HRLL
1.00
84.7 -( _65.0 )/0.9
ELAIET (As)
MEREHEE A=0.208"2x /4= 0.03 E m EREE

0.04 * 1.00 =% 29.40

TERET
h ERER
1.00  * 29.40
=BT
i FRIER

1.00  * 29.40




ERSIUVESELHIROEH T THrmE
E3 i (B 4SE - mm)
EiE £ ENE
PRP © 200 © 208
W | BRRE S MH No. ~ MH No. ERER| HWHARERE (m) VHA R R R (m) [EREREFER TR EIE E(m) ITEEERY
(m) [TaRAE A & [TaRAE LA H (m) (m | TF5El LA Eijs_‘ Ty t =0. 26m
T i a b c d=a-b | e=a-c AR f gmaxf | fEHIIE | i [TEBHIELHE
P 1 232 232-1 ~ 232-2 39.00{ 0.45 0.45{ 0.90] 0.53: 0.53 1.05 38.10 37.95] 1.31 1.55 1.55 1.43 55.71 0.95 37.05 2.00
232 232-2 ~ 232-2+9. 20 9.20( 0.45 0.00{ 0.45] 0.53: 0.00 0.53 8.75 8.68] 1.58 1.69 1.69 1. 64 15.09 0.95 8.74 2.00
W 2 232 232-2+9.20 i~ 230-3-1 29.80] 0.00 0.45i 0.45/ 0.00: 0.53 0.53 29.35 29.28] 1.69i 2.06 2. 06 1.88 56.02 0.95 28.31 2.50
230 230-2+3.20 i~ 230-3-1 3.80] 0.00 0.45i 0.45] 0.00{ 0.53 0.53 3.35 3.28] 2.01 2.01 2.01 2.01 1.64 0.95 3.61 2.50
230 230-1 ~ 230-2 44.50] 0.45 0.45i 0.90f 0.53: 0.53 1.05 43. 60 43.45| 1.80 1.96 1. 96 1.88 83. 66 0.95 42.28 2.00
230 230-2 ~ 230-2+3. 20 3.20( 0.45 0.00; 0.45] 0.53: 0.00 0.53 2.75 2.68[ 2.01 2.01 2.01 2.01 6.43 0.95 3.04 2.50
W 3 230-3 230-3-1 ~ 230-2-1 15.60] 0.45 0.38; 0.83] 0.53: 0.45 0.98 14.78 14.63] 2.09 2.02 2.09 2.06 32.14 0.95 14. 82 2.50
232-5 232-5-1 ~ 1R232-5-2 4.10] 0.45 0.45! 0.90] 0.53: 0.53 1.05 3.20 3.05] 2.43 2. 64 2. 64 2.54 10. 41 0.95 3.90 3.00
Wi 4 232-5 {R232-5-2 i~ 232-4-2 29.40{ 0.45 0.45{ 0.90] 0.53i 0.53 1.05 28.50 28.35] 2.70 3.13 3.13 2.92 85. 85 1.00 29.40 3.50
&5t 178. 60 172.38] 171.33 3.13 353. 01 0.96] 171.14
EHPEAEIE = Yeg-Ya = 353.01 / 178. 60 = 1.98 m
A& 43.1
MEE|FH |&mK PEBINE |BXERMHZR | FriENHEL ;5K # 3
BABSLR H=1. bm=k ;i 0.00| 0.00| 0.00 0.00 - - -
=3 A Em [5
o = 1Y BABSLE H=2. Om=k ;& 92.70|154.52( 1.67 1.96 0.95 - 3 6
e 9D 0.208 0.10 1.67
BABSLE H=2. bm=k ;& 52.401102.23( 1.95 2.09 0.95 - 2 -
BABSLR H=3. Om& ;i 4.10] 10.41| 2.54 2.64 0.95 - 1 1
BABSLR H=3. bm=*k ;i 29.40| 85.85| 2.92 3.13 1.00 - 2 -
BABSLE H=4. Om=k ;& 0.00| 0.00( 0.00 0.00 - - -
178. 60(353. 01 - 8 1
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AALRET fIER
E % B
I i& Bl

AFLERET 153 k=L 8 8 8 EFE

AFLERE % 60 cm T-14 8 8 8 #H

60 cm 1-25 8

REYLY 10 cm 10 10 10 &

15 cm 1&

pag 30 cm 1@

45 cm 3 3 3 &

60 cm 5 5 5 &

EEE 30 cm 1@

60 cm 1&

90 cm 2 2 2 {&

120 cm 1&

150 cm 1&

180 cm &




AFfLRET

BIER
ey

% B
I i& Bl
15X k=L

BATOvY 60 cm 118

90 cm 1 &

120 cm 4 @&

150 cm 1 &

180 cm 1 &

HESE FES 25 mmE T 4 @

RES 45 nmE T 4 &

kiR AN 110 cm 8 &
E&RT 8 @A
7 nyhiEA T AFLER 1.00 ~ 3.00m 1 &
AFLIR 3.01 ~ m 1 &P




AFfLRET fIER

H ]
B =
I i& g Al 5
15X 2k—IL
HilfL ¢ 400 (PRP) &
[0) 250 (VU) 1 1 168
[0} 200 (PRP) 6 6 6 &
[0) 150 (VU) 2 2 238
AR T 0) 400 (PRP) ]
[0) 250 (VU) 1 1 168
¢ 200 (PRP) 14 14] 14 R
[0) 150 (VU) 2 2 2 &P
AESMEF [0} 400 (PRP) 1
[0) 250 (VU) 1 1 11
[0) 200 (PRP) 14 14 14 1@
[0) 150 (VU) 2 2 2 {&




AFLEXIET

fiER

B = i
I & g 3l
05w kR—IL
HI L ) 400 (PRP) (& AT
¢ 250 (VU) 5
o) 200 (PRP) 1 AT
¢ 150 (VU) 5
AFLEERET [0) 400 (PRP) A
[0} 250 (VU) & R
[0} 200 (PRP) 1 &FRr
[0} 150 (VU) & R
AL SMEF [0} 400 (PRP) 1
[0} 250 (VU) 1
[0} 200 (PRP) 1 &
[0} 150 (VU) 1




1 5 AN A E E B #H =X
Ji& A 1854
A 23 i T 1z Y DY 8 EE B B EEJOy Y 3
7 v F >, & JEE
& ) 7 A =y
=1 = (m) % v 511011513045 (60 30| 60 ] 90 [120]150(180] 60 [ 90 | 120 1501 180 =
H1 H1+0. 05 H2 7H3
232-1 1.26 1. 31 0. 05 0.20 0.59 1 1 1
232-2 1.59 1. 64 0.03 0.20 0.57 1 1 1
230-3-1 1.99 2.04 0.16 0.20 0.70 2 1 1
230-1 1.70 1.75 0.15 0.20 0. 69 1 1 1
230-2 1.86 1. 91 0. 05 0.20 0.59 1 1 1
232-5-1 2.33 2.38 0.15 0.25 0.74 1 1 1
5
232-5-2 2.60 2.65 0. 06 0.20 0.60 1 1 1 1
232-4-2 3.18 3.23 0.16 0.20 0.70 2 1 1 1
1.20 - 3.00 7
INET 13.01 - 1 10 3 5 2 1 1 4 1 1
1.20 - 3.00 7
&%t 13.01 - 1 10 3 5 2 1 1 4 1 1




1 5 A F Bl - i T -\ & S5 f# F F B H X

A i B B & & Hl B K T AESMEF

fl A (RHEAERE m) (REAEE ) GREAEE mm)

&= X

=1 ] 150 mm 200 mm mm 400 250 200 150 400 250 200 150 400 250 200 150

(PRP) (VU) (PRP) (VU) (PRP) (VU) (PRP) (VU) (PRP) (VU) (PRP) (VU)

232-1 1 1 1 1 1 1
232-2 1 1 2 2
230-3-1 2 2 3 3

230-1 1 1 1 1 1 1
230-2 1 1 2 2
232-5-1 1 1 1 1 1 1

157
232-5-2 1 1 2 2
232-4-2 1 1 2 2

INET 9 1 6 2 1 14 2 1 14 2
it 9 1 6 2 1 14 2 1 14 2




0 5 A A H #H B o T -m & S5 # F F B OB X
A i B B & & Hl B K T AESMEF &
fl A (RHEAERE m) (REAEE  mm) GREAEE mm)
&= P
=1 # 150 mm 200 mm mm 400 250 200 150 400 250 200 150 400 250 200 150 =z
(PRP) (VU) (PRP) (VU) (PRP) (VU) (PRP) (VU) (PRP) (VU) (PRP) (VU)
BEE%
230-2-1 1 1 1 1
IINET 1 1 1 1

op
=111
—+




TL
1

a.

Kt

5




BFAKMBERURMAERRLT BEX o 1
r ®= " o Eos [ Zoi[Toi[ 25 [ sEClen| # | B E " =

B OE U B As 65| 11.9 3.5 15 6.0 -9.9 19.5 19m |S#EBIETICHE
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I . o I
: : =L Wa__ |
H3=H1—-H2= 1.04 m _ L1 e L2 i -
H4=H340.16= 1.20 m g 5 =l P S : ~
| ; 3 RC40-0! S + 8
AEEEIE  B= .50 m = : ! Z 1.104 |3
1 B EZ20%0 | H [ =
B/2= ___0.75 m w;* h3) § \ %%J’EZE& /
' " I I
///”////i { 0.25 8 :
| S, S <:>
A | R _ BpELEE] 1
0.170
ERRA Rl
SAHEY
W37 _E BT EAO=
BESREREAL= 0.267 * 0.267 *7/4 = 0.056 m’/m
ETEMTEAI=  0.165%  0.165 *7 /4= 0.021 m*/m
FOEREMTEA2=  (0.92 + 0.70 ) /2x0. 365 -0.021 = 0.27m/m

wErEREwEA=  (1.04 + 0.92 )/2%0.20 = 0.20 m*/m




ERBEHE

Tid

12 5l

e

==)
Ry o XX L1 x 2 x N
No.2,3,5 108 * 2 *x 3 6.5 m
ST | Ry RAXE2 L1 X 2 x N
No.4 172 % 2 % 1 3.4 m
INET 99 m
RyH A XRE1 L1 X W1 X N
o wi| No.235 108 * 13 % 3 42 m2
ﬁ’&mﬁﬁﬁ“ RyHy AXE2 L1 X W1 X N
No.4 172 % 144 x 1 2.5 m2
INEF 6.7 m2
Ry R X1 (L1 x( 07 + Wi J)x Ha /2 x N - Asif
No.2,3,5 ( 108 x( 07 + 13 )x 1 /2 X 3 - 02 3 m3
Ry A X2 (L1 x( 07 + W1 )X Ha /2 X N - Asif
No.4 ( 172 x( 07 + 144 )x 123 /2) X 1 - 0.1 2.2 m3
EEl T HP X Ri 1 (Al - A2 - A13 )x( 07 + WI )/2
No.13 ( 15 - 0 - 002 )*x( 07 + 151 )/2 1.6 m3
HPX 52 ( A1l - A12 - A13 )x( 07 + WI )/2
No.14 ( 15 - 0 - 012 )*( 07 + 144 )/2 1.5 m3
INET 8.3 m3
Ry o XX ( L1 x( 07 + Wl )X Ha /2 x N - Ast#
No.2,3,5 ( 108 x( 07 + 13 )H)x 1 /2 X 3 - 02 3 m3
Ry o R XE2 ( L1 x( 07 + Wl )X Ha /2 x N - Asi
No.4 ( 172 x( 07 + 144 )x 123 /2) x 1 - 0.1 2.2 m3
BL+A0HT [HPERE ( A1l - A12 - A13 )x( 07 + W1 )/2
No.13 ( 15 - 0 - 002 )*x( 07 + 151 )/2 1.6 m3
HPX 52 ( A1l - A12 - A14 d)x( 07 + W1 )/2
No.14 ( 15 - 0 - 012 )*( 07 + 144 )/2 1.5 m3
INET 8.3 m3




ERBEHE

IiE L] iE =
oy A X EH L1 x Wl x HBEE x N
No.2,3,5 108 * 13 * 004 * 3 0.2 m3
Ry AXRE2 L1 x W1 x HEE x N
No.4 172 * 144 % 004 * 1 0.1 m3
Astil 4 T [HPX R Al2 X( 07 + W1 )/2
No.13 000 *( 07 + 151 )/2 0 m3
HPX &2 A12 x( 2 + W1 )/2
No.14 000 *( 07 + 144 )/2 0 m3
INEF 0.3 m3
Ry A XA L1 X A3 X N
No.2,3,5 108 * 02 * 3 0.6 m3
Ry XX RE2 L1 X A3 X N
No.4 172 * 02 % 1 0.3 m3
FRETEHRELT |HPX R 1 A15 X  L15 X N EEISEENOHPERETIERLO-HMNET S
No.13 011 * 133 =* 1 -0.1 m3
HPX 2 A5 x L15 x N EEIEEF N DHPEREEIERLDf-HMET S
No.14 009 * 138 * 1 -0.1 m3
INET 0.7 m3
RyH A X1 ERREEL
No.2,3,5 0 m3
Ry AKX B2 ERREL
No.4 0 m3
HEBIT  |HPRRE A7 x 117 x N IS OHPE B ESIEBERLOE-OMES S
No.13 026 * 092 * 1 -0.2 m3
HPX 2 A5 x L15 x N EEIEEF N DHPEREEIERLOf-HMET S
No.14 023 * 115 x 1 -0.3 m3
INET -0.5 m3
RyH A X1 ( L1 *( W4 + 104 )/ 2 * he )x N
No.2,3,5 (108 *( 112 + 104 )/ 2 *x 014 )*x 3 0.5 m3
o A X2 (L1 *( W4 + 104 )/ 2 * he )*x N
No.4 (172 *( 126 + 104 )/ 2 % 037 )* 1 0.7 m3
BARERLIHPRRE! A9 x 119 x N IS OHPEBESIEBERLOE-OMES S
No.13 016 * 139 * 1 -0.2 m3
HPX 2 A5 X L15 X N EEIEEFE N DHPEREEIERLDf-HMET S
No.14 011 * 139 * 1 -0.2 m3
INET 0.8 m3




IiE L] iE =
Ry o XX EH (L1 *( W3 + W4 )/ 2 )% N
No.2,3,5 (108 *( 127 + 112 )/ 2 )% 3 3.9 m2
Ry AXRE2 (L1 *( W3 + W4 )/ 2 )% N
No.4 ( 172 *( 141 + 126 )/ 2 )% 1 2.3 m2
LRERE |HPXR A9 x 119 x N EEIZEERN OHPE B ESIERLO-OMET S
No.13 003 * 139 x 1 0 m2
HPX 2 A5 x L15 x N EEIEEFN DHPEREEIERLOf-HMET S
No.14 003 * 139 x 1 0 m2
INET 6.2 m2
Ry A XA L1 * W1 *x N
No.2,3,5 108 * 13 3 4.2 m2
oy A X B2 L1 % W1 *x N
No.4 172 % 144 % 1 2.5 m2
RET HP X Ri 1 TRREEL
No.13 0 m2
HPX 2 ZREL
No.14 0 m2
/NET 6.7 m2




H1

|
|
B lp i | H6*0.3+0.25
' ! ! _ _As W1 i W2
l i X w3 |
| 1 |
i i el W4 |
L1 L2 ! !
I - © : Nk
| ; = | (=)
= =) | - ey
! ! S RC40-0! F4 +
. _i________ i < 1.104
ER 44 %& B2 20%0 i N %E:,;UEE /
——’—’_”___,_,,,_T—4——"””22122___1 ha] s \ 0.192
= ! |
:,._——————————““”’;’T""———_  0.25 2 '
| A o
E Rl =k B PR
' 0.170
E R R ih Al
M7 ESrmEAO=
Rt ERmEmAI= 0.021 m3/m
M EREMEA2= 0.27 m3/m

4 TIERETEAS= 0.2 m3/m

'CHb>




H1

B Lp

| |
| |
! .| H6*0.3+0. 25 i
! ! ~ As W ' W
| . < ]
| : = |
| i el W4 |
L1 L L2 ! |
I /i © : oo ~
| - = 1 o =
N LS I~ | ! [le | P
e I = ! T | -
| : S RC40-0| A + s
| - I 1 =
‘ L = %Lilﬁ:gfiﬁ -
TAEE RE20% ;] ! 2
/,,Tzi/_;;f h3{ s \ 0.192 /
= |
L | i 0.25 S
! < « @
()
E P54 | Rhfal e WA 1
' 070
E IR R it
P . No.13®M F 54 Bl % 1.35
- i No.140 F 4RIl iE 1.23
1.39 HP 18:%i% (DL0.02) 1.41
HPErETE (A1) 1.5 m2
REHENOHPETETE (A12) 0.004 m2
EHIEEE L T OHPHETE XE1(A13) 0.02 m2
EHIEFE L T OHPE ETE XE2(A14) 0.12 m2
HPIEE F4TIEREL Wim X 1(A15) 0.11 m2 HPEIEES A TIHERL IER KRB1(L15) 133 m
HPIEE H4TIEREL Wim XRE1(A16) 0.09 m2 HPIEIEES A TIERL IER XRB2(L16) 138 m
HPI &0 AOELHE M XAS1(A17) 0.26 m2 HPIIEER PO ERE ER RE1(L17) 0.92 m
HPI &0 FOELHE M (XRS2(A18) 0.23 m2 HPIIEER PO ERE ER XR2(L18) 1.15 m
HP#Z=ER RCIERL BrmE XRE1(A19) 0.16 m2 HPH#IEER RCIZERL ER XREI1(L19) 1.39 m
HP#Z=ER RCIERL BrmE XRE2(A20) 0.11 m2 HPH#IEER RCIZERL IER XRI2(L20) 1.39 m
HPI &R Rk Wrm XRS1(A21) 0.03 m2 HPIIEER LEREE E& KE1(L21) 1.39 m
HP#Z=ER £ EBIRAE ME XR2(A22) 0.03 m2 HPHIEED £ 2R IER X2(L22) 1.39 m






%I HER

2 Al oAl = BRETHE =-Fiva w &
T L
BB EYMET
BEYRBET
BEE% 7K B& (RC-BOX) #i %= RCBOX 1500 x 1200 49. 20 49.2 m
CobTEFT (t=0.18) 106. 80 106.8 | m [REAPAS I O R HREAE
CoEiE L 40.4 40.4 m3  [((1.5+0.18) x (1.2+0.18x2)-1.5x1.2) x EE
LREBIET (BEE) 1.8 1.8 m2 [JL@IBAOER (1.5 1.2m)
LEBIET (T@E4) 1.8 1.8 m2 [JbL@IBAOER (1.5 1.2m)
Co (18-8-40BB) $T5% 0.5 0.5 m3 [1.5%x1.2x0.3
BEER KB (HPE) = HP ¢ 1200 36. 50 36.5 m [33.60m+1.50m+1. 40m
Cotlr L (t=0.095) 1.94 1.9 m2 |#wism 0.387ni x5®AT=1. 94nd
CoHRtE L 14.1 141 m3 |1.3972%x m/4-1.2"2x n /Ax &R
BET GBHERZ) 5.7 57| m2 |1.27°2%x /4 x5&Ffr
BET (LERR) 5.7 57| m2 |1.27°2%x /4 x5&Ffr
Co (18-8-25BB) $T 2% 1.7 1.7 m3 (1.272% 7t /4%0. 3Imx S&EFr
712 ik T
COZLEM T BRI B 54.5 54.5 | m3 [ 40.4+14.1)
N5 T
ns & Co— k&G 0 t |thHEx2.5t/m3
msy & AH#5Co (kB 136.3 136 | t [#HEx2.5¢t/m3
ns & As 0 t  |tREEx2.3t/m3







[

T i iE Al xE rE = B M
WrmE2 BT 3
KE, RITED
HEVII T As 67.2 134.8 HEzLy
RN "
| SEEUIETT Co t=15cm
"
S MRIREI T As 56.4 64.0
"
COEiE T Co
"
FiIMmET Asii 2.3 2.6
"
RAET Coift
0o & Asis 7.2%2.3t/m3
0o & Cols 0.2x2.3t/m3
KE, RITED
*RET ZHIEASIIF  t= 5 cm 56.4 64.0 HEELY
"
=ET ZEH t=  3cm
"
RET 18-8-25BB t=_ 10 cm
"
TERET RC40-0 t= 25cm 56.4 64.0
"
LERAET M25-0 t= 10cm




